S@higa: AXQ £3l

SMERSTE (KD

RER AXQ6

20

2-M2.5 x 0.45 W220% 3

=1 2-M5x 0.8

7

2 .6
3 J | 6 fe k10 (i fesm VAT A )
[to)
[s0]
Y o b—H
3 i ol oo
il R TR
19.5 (AR B ) 230" 25 N-M3 x 0.5 B2 4 55 3
4 JES TR
1 w| S
i s| Y -
Pé% 1 = L
N R /
SNEE R I L o
or & ©O—= © x| & B
SI 5 ), | = o [& & e ©
e F
O/ :1§ - Y
€ F o 2 4-M2.5 X 0.45 2% 3.5
9 N_ 3
Dy 11 2 1) xF o
3-M3 x 0.5 4K 5 5 M
KA
4-M2.5 x 0.45 24015 2.5
K 12.5
3 |65 ‘
o o EAE  AXQ6-30
o [sp]
20 16 . 13
. -9 16 %i
[aV) -
© &
Z % V7 Was W7 Wi ax ) o
. J@ AR &
zz CH
H_ @ <
(NN-1) x H G
H
105 5.5 105 5.5
FA FE
H o © o ©
& g @1@ gul 8 B8
m Van ) m m o ) w0 T T | T T [
w A4 w w V A\ [aV} L Il | ¥ i} L |
, o
- — . g
A B @
LA . B NN-M4 x 0.7 #2575 8
233 725 HA GA #HE AA #E BB
(mm)
NS F N G H NN | GA | HA | J K KA M Z o4
AXQ6-10 | 22 | a4 6 | 23 | 2 [ 13 | 16 9 | 17 |215] — | 42 |415]| 48
AXQ6-20 [ 25 | 4 | 13 [ 26 | 2 [ 13 [ 26 9 | 27 [315] — | 52 [515] 58
AXQ6-30 | 21 | 6 | — | — | 3 | 29 | 20 9 | 37 |415] — | 62 | 615 | 68
AXQ6-40 | 26 | 6 | 11 [ 28 | 3 [ 39 | 28 | 16 | 48 | 515 675] 80 | 795 | 86
AXQ6-50 | 27 | 6 | 21 [ 28 | 3 [ 49 | 28 9 | 65 | 615 775] 90 | 895 | 96




FFRE AXQ6L

3x M3 x0.5 L% 5

20

6 (i A TFERE )

4 xM2.5x0.45 WAL 3.5

2z
y4
N ) o
[ee] N
| o-aHo—oll
@ 0
o 3 (<)
\ 6.5
N 4 x M2.5 x 0.45 B2207% 3
K 12.5
5 M
N 0
11 (2‘)"': 3
S
E 53
8
go N
(e}
21 @ © OT——
T FNZ.SY Sy L7\ < N =
K AR N Sru B I
PN i A ]
K
+ —it )
== e ©
4.° JEvi AR B

Hi TR A

/;.5 (i ai R TR )

@370 %25

0 A i JEME AXQ6L-30
. A i — 0
A M [Te}
yan g e
pid pas % ® ©
& T
® 3 J 1 e ©0—0—=©0
2 |ls J%
2xM2.5x0.45 B4 3
xM2.5x BRER S 2xXM5x0.8 20 16 | 13
@3H9* %% 25 HA GA
4 NN x M4 x 0.7 $R40 8
A B
—— ’4*
LN 0 q
= o« N
- © o & | 1
'm -3 Per Ty & 1 + ] [ |
00000 © ol o J o 5 o J 0
3 I 2 ﬁ 8 K U ¢
A B 105 5.5 10.5 5.5
[ [~ ‘ ‘
H | B AA #7 BB
(NN - 1) x H G
(mm)
Model F N G H NN | GA | HA | J K M 4 Y74
AXQ6L-10 | 22 | 4 6 | 23| 2 | 13 | 16 9 | 17 |215] 42 [415] 48
AXQ6L-20 | 25 | 4 | 13 | 26 | 2 | 13 | 26 9 | 27 |315] 52 [515] 58
AXQ6L-30 | 21 6 | — | — | 3 [ 29 | 20 9 | 37 |415] 62 | 615] 68
AXQ6L-40 | 26 | 6 | 11 | 28 | 3 | 390 | 28 | 16 | 48 |515] 80 [ 795] 86
AXQ6L-50 | 27 | 6 | 21 | 28 | 3 | 49 | 28 9 | 65 |615] 90 [895] 96

o7




R AXQs 2:M3 X 0.5 LI 4

<1 2-M5x 0.8

7
35 J 1 .8 R (HFEm AT AR R
<
il 0
e @ LoRE:
- ; hal A PP o
g 2 - Féﬁ"éfl @'héﬂ"" ™ ©
B AT R
22.5 (iR TR &) 65 35
gy
. PN O
B 8 m )
g AN
& ~
BN
iE N y
‘*E F _ ;}% "T
2 . <g1> «F go 4-M3 x 0.5 B4 4
(s
3-M4 x 0.7 2405 6
6 M
KA
K 146 NA-M3 x 0.5 #227% 3.5
38 | .7 JRYE  AXQ8-30
[sp]
S = 27 23 6
©-9 ©—6-
8V} | I |
— [<¢] o
N 1F «
m Y m m o - Y
Z w A4 w w A4 A4
2z H © @
(NN-1) xH G
H
A B 12,5 | 5.7 12,5 5.7
|‘7 fu—
. N 0 « 0
(s2] 5 (s2] 5
» o JoflEs € o] Es
A AR A AD o o \ T + \ o I
‘u A4 ‘u ‘u A4 ‘u A4 A4 i
i <
o B 1 TR B9
= ’N . &
- 4 g
Bl o NN-M4 x 0.7 iz 8
+0.025 HA > GA > @é
2370 "3 g HE AA #m BB
®
(mm)
S F N G H NN | GA | HA | J K KA | NA M 4 Y44
AXQ8-10 25 4 7 | 25 2 13 | 19 11 17 | 235 | — 4 46 | 45.5| 53
AXQ8-20 25 4 14 | 28 2 14 | 28 10 | 28 | 335 | — 4 56 | 55.5| 63
AXQ8-30 26 6 - — 3 29 | 27 12 40 | 435 | — 4 70 | 69.5| 77
AXQ8-40 32 6 8 | 31 3 39 | 31 14 | 52 | 535 | 694 | 4 84 | 835| ot
AXQ8-50 46 6 8 | 29 4 37 | 58 13 | 78 | 635 | 944 | 8 109 [108.5| 116
AXQ8-75 50 6 31 30 4 61 60 12 | 105 | 88.5 1204 | 8 135 |134.5| 142




FFRE AXQSL

y /74
Y4
o T )
— = I\
o -6 I
i 38 | |7 NI
14.6
K NA x M3 x 0.5 #R40% 3.5
38 | |7
KA 14.6
6 M
3 x M4 x 0.7 B 6
u_) o
10 = 12 (2 yxF Lo
® 4xM3x0.5 AL 4
5 D F g
& o go -
& ™
[FX5y =
NI o0 = ‘«_,I + +
8 o & O ——Q—65
3 2 < @
©
—=tt 4 || e g
ﬁmﬂ«rmﬁ\ 038" 3 /Nxmoxos e 5
225 (itvaimiAfT Rk &)
JEYLE  AXQ8L-30
¢ EE B8] et » e ®
52 A i
_“,'(‘\ {} §> - ADA-B D)o o
) \w\l\w w A4 A4
~l 35 J L8l .
2.7 27 23 |6
‘D] VR A 4 .
2xM3x05 WRLUR ST 2 x M5 x 0.8
(s
1SS
@3H9*3% % 3 HA GA g
+O
A e el £ NN x M4 x 0.7 B4 8
A ‘, 73 q
- T <
A B4 A o G - @ | @ |
w\lw wvw AV )7 - i i
r o @]ﬁj ol g5l N @tj 10
5 ? < e ]
A
= H t 125 5.7 125 | 5.7
(NN-1)xH G HHE AA #m BB
(mm)
S F N G H NN | GA | HA | J K KA | NA M 4 Y4
AXQ8L-10 | 25 4 7 | 25 2 13 | 19 | 11 17235 | — | 4 46 | 455| 53
AXQ8L-20 | 25 4 14 | 28 2 14 | 28 | 10 28335 | — | 4 56 | 55.5| 63
AXQ8L-30 | 26 6 | — | — 3 | 29 |27 | 12 40 | 435 | — | 4 70 | 69.5| 77
AXQS8L-40 | 32 6 8 | 31 3 | 39 | 3t 14 52 | 535 | 694| 4 84 | 835| ot
AXQ8L-50 | 46 6 8 | 29 4 | 37 | 58 | 13 78 | 635 | 944| 8 | 109 [108.5| 116
AXQ8L-75 | 50 6 | 31 | 30 | 4 | 61 | 60 | 12 | 105|885 |1204| 8 | 135 [134.5| 142

o7




REE AXQ12

2-M4 x 0.7 W45 6

2,95

HESH 2-M5 x 0.8

10

Bk 18 (e AT TR )

29.5 (i 1 TFE4E )

T

iy
T

S YA T

29

29

ﬂ4+8.03&—é4
Y ‘5
s <\ o /
Wr\\\)@ EHHE oy & (5 A
) = @
o—or & O =+
=
A Eeol (& © ® S
) =
s Oefr) 2
T 5 e F < - 2 .
pe . (ﬂ_OXF ® 4-M4 x 0.7 #2775 6
| 2 S
3-M5 x 0.8 #2475 8 .
> NA-M4x 0.7 $B4017 4
KA X RALR
K 17.5 EAE AXQ12-40
5 8.5
Q 5 39 29
) &
N 2 g
P00 —=o
Z
2Z [} ()
(NN-1) x H G
H 16 8 16 8
A B >
-2 -8
o WK ol wg
< <
I 3| JED |8l 3 e ]
AN DA AD e ey : I — I
E SAA AL i : ! I !
r 2 +
" §> N ~ 23;
A 5 B NN-M5 x 0.8 2475 10
<
244000 s 4 HA GA & #Hm AA #m BB
N
(mm)
NS F N G H NN | GA | HA | J K KA | NA M Z 2Z
AXQ12- 10 | 28 | 4 | 18 | 32 | 2 | 18 | 32 | 12 [ 34 [ 27 | 40 | 4 67 | 66| 76
AXQ12- 20 | 28 | 4 | 18 [ 32 | 2 [ 18 |32 [ 12 [ 34 [ 37 | — [ 4 67 | 66 | 76
AXQ12- 30 | 38 | 4 | 20 | 40 | 2 | 20 | 40 | 14 | 42| a7 | — | 4 77| 76| 86
AXQ12- 40 | 34 | 6 | — | — | 3 [ 38 [ 39 | 15 | 58 | 57 | 76 | 4 94 | 93| 103
AXQ12- 50 | 34 | 6 | 9 | 39 | 3 | 48 | 39 | 13 | 70 | 67 | 8 | 4 | 104 | 103 | 113
AXQ12- 75 | 36 | 8 | 23 | 36 | 4 | 59 | 72 | 17 | 110| 92 | 130 | 8 | 148 | 147 | 157
AXQ12-100 | 36 | 10 | 12 | 36 | 5 | 84 | 72 | 17 | 135| 117 | 155 | 8 | 173 | 172 | 182




FFREL AXQ12L

zz N
4
) ji= o g
& ¥ @
oD
a 5
K 175 NA x M4 x 0.7 BE5L 4
5 85
KA
8 M
3xM5x0.8 ML 8 <
®
N Y
13 16 <?'bx': ., &
5l F o 0| 4xM4x0.7 IRLE 6
Bl % - o
'ﬁ\% [
ol
A
@ = 3] © © @ ® &
= e Y
€ & @ ® & S
o B
e o .
7
/& b
NxM4x0.7 BRZGE 5 8 45
baHg *00% 4 NI E
29.5 (i A1 TRESE )
S o
H] JEWME AXQ12L-40
CHr -
@ ©
2xM4x0.7 L6 4.75 A 2xM5x0.8 @O@ - 5
2 9.5 @ &
> ek 13 (i frim A f T RE ) Ek
<
S
_ 39 29 |9
04H "% 4 HA GA 5o
5 2
A B < -
|« | NN x M5 x 0.8 #84%E 10
- bt L =N
V . N .
_ o oD 7 I — I
L Ly S SEEa = —ctn
i J 10 a2l o] 1D gl
Q Q Q m Q
A H B 16 |8 16 | 8
(NN-1)xH G #HE AA #m BB
(mm)
S F N G H NN | GA | HA | J K KA | NA M 4 Y4
AXQ12L- 10 | 28 4 | 18 [ 32 | 2 | 18 | 32 | 12 | 34| 27 | 49 | 4 67 | 66| 76
AXQ12L- 20 | 28 4 | 18 | 32 | 2 | 18 | 32 | 12 | 34| 37 | — | 4 67 | 66 | 76
AXQ12L- 30 | 38 4 | 20 [ 40 | 2 | 20 | 40 | 14 | 42| 47| — | 4 77| 76| 86
AXQ12L- 40 | 34 6 | — | — | 3 | 3 | 3 | 15 | 58| 57 | 76 | 4 94 | 93 | 103
AXQ12L- 50 | 34 6 9 | 39| 3 [ 48 | 39 | 13| 70| 67 | 86 | 4 | 104 | 103 | 113
AXQ12L- 75 | 36 8 | 23 [ 3 | 4 | 59 [ 72 [ 17 | 110] 92 [ 130 [ 8 [ 148 | 147 | 157
AXQ12L-100 | 36 | 10 | 12 | 36 | 5 [ 84 | 72 | 17 | 135 ] 117 [ 155 | 8 [ 173 | 172 | 182




EE AXQ16

HER1 2-M5 x 0.8

JRME AXQ16-50
45

35

3 11
w| 55 I, 12 K12 (R A )
Te)
- © \k) : '_i
ool ool
R T AL B .
36.5 (i s 1 R ) e . N-M5 x 0.8 64 6 11
#5705 JE ST B
6 .
P S £ e s E— Y S S S L
i | — B
X & @ s =
) & /‘(m N D) 32 B
N = T\ A\ o
) E2 o @ O
o Bl &
< ﬁE, — y
A [te}
o F i i
N g, 4-M5 x 0.8 #ALLIR 7
<7 —1> xF Eay
. 2 2
3-M6 x 1 #2710 )
10 M NA-MS5 x 0.8 #2415 6.5
KA
K 21
) 55_| 10
o
-0 [0-& i
™~ — 0 1=
3 ol & LA A
_[E INZY
z E :
2z | L ®
(NN-1)xH G
A H - g 21 9
<= =
— Wg ©
Im ¥ 22 8
H ® SRS
Ho® ®o o ==
i |
[ N *
A R B 0| /NN-M6x 1 iz 12
5 +0.030, & @
25 0% HA GA J & S A
o
(mm)
BEe FIN|G|HINN[GA[HA[ I [ J[ K[KA[NA][ M | z |2z
AXQ16- 10 38 4 18 39 2 18 39 12 40 28 57 4 78 77 89
AXQ16- 20 38 4 18 39 2 18 | 39 12 40 38 — 4 78 77 89
AXQ16- 30 48 4 19 48 2 19 | 48 12 50 48 — 4 88 87 99
AXQ16- 40 58 4 19 58 2 19 | 58 12 60 58 — 4 98 97 | 109
AXQ16- 50 40 6 — — 3 48 45 20 68 68 93 8 114 | 113 | 125
AXQ16- 75 46 6 21 52 3 73 52 15 105 93 | 125 8 146 | 145 | 157
AXQ16-100 44 8 36 44 4 80 88 18 145 | 118 | 168 8 189 | 188 | 200
AXQ16-125 44 10 17 44 5 105 88 23 165 | 143 | 193 8 214 | 213 | 225

210.5

29.5

(5

#m BB



FFRE AXQ16L

Y74
V4
- _IE
8 I —— 2|5
©-&| |-
i 55 | |10
K 21 .
NA x M5 x 0.8 40 6.5
5.5 10
KA 21
10 M
3x M6 x 1 BRI 10 ©
(8-
4 21 > X 8
85 _ F 2 0 4 x M5 x 0.8 MEELE 7
i k2 - ©
" ; ]
a UU
laq ©
| — — e/
i ] o T ¥
jE 0@7 o § < g ‘O N
i A ~E i 0
- @ S Ao U =
= gr— — T : RO
< - e
Y W P T SR N A § i 1:}/;
Jam AT RS B 1 55
SRR P :
ooy g5 IR NXMsx08 A% 6
36.5 (i 417 H b ) _— _— JRLE AXQ16L-50
i QX OXO: .

B ' H @ ©
- & 1
N 178 © /f) I .-i -
et = Ged o e
@ 55 J 1,12 E
. 3 11 . .
2xM5x0.8 B4 8 T 2xM5x0.8 © H
e o 5
k12 (i TR ) o 45 35 13
N
(2]
05H9"3%° 1% 5 HA GA 2
A 6 B e
: | |«— NN x M6 x 1 #8405 12
3 -

K

o'
D
)

05
=
_ [1]
29.5
210.5
05
ﬁ Y
|

RIS

|<A H |-B 21 |9 21 |9

(NN-1)xH G | HmE AA # @ BB
(mm)
Model F N G H NN | GA | HA | J K KA | NA M Y4 ZZ
AXQ16L- 10 | 38 4 | 18 | 39 2 18 | 39 | 12 40| 28 | 57 | 4 78| 77| 89
AXQ16L- 20 | 38 4 | 18 | 39 2 18 | 39 | 12 40| 38 | — 4 78| 77| 89
AXQ16L- 30 | 48 4 | 19 | 48 2 19 | 48 | 12 50 | 48 | — 4 88 | 87 | 99
AXQ16L- 40 | 58 4 | 19 | 58 2 19 | 58 | 12 60 | 58 | — 4 98 | 97 | 109
AXQ16L- 50 | 40 6 | — | — 3 48 | 45 | 20 68| 68| 93 | 8 | 114 | 113 | 125
AXQ16L- 75 | 46 6 | 21 | 52 3 73 | 52 | 15 | 105 | 93 | 125 | 8 | 146 | 145 | 157
AXQ16L-100 | 44 8 | 36 | 44 4 80 | 88 | 18 | 145 | 118 | 168 | 8 | 189 | 188 | 200
AXQ16L-125 | 44 | 10 | 17 | 44 5 | 105 | 88 | 23 | 165 | 143 [ 193 | 8 | 214 | 213 | 225

29.5
210.5




REE AXQ20

2-M6 x 1 #8450 7

#E< 0 2-Re1/8

25 13
0| 65 J 1 8 ek 19 (RS L E)
F <
OO O OH-
45.5 (i IR ) R R TR N-M5x 0.8 A 8 i RAsE 5 6
6
]
& & & =tk
bl
£ & o
i 1 1
::' F 0 Q| o
- N 5 - 4-M5 x 0.8 IB4i% 8
27 <*2-1>XF %o
3-M6 x 1 1245 13 ©
x 1 RS 13 M
5008 e KA N
Zo0 K5 EIE AXQ20-50
« ” NA-MS6 x 1 12405 6 48 w12
[te} 6.5 12
o H
00|06 E
2 — 3 @ S ®o® ® o 5
T E
4 = & @
zz |
(NN-1)xH G
A H 5 26 10.5 26 105
}_i
q Uy —uu
- g 0| - - E re}
e 0 o - (o] [
I ® 8|8 ® R
A A D A A & T T ] — T
I w \Jw w A4 AV 1 I + - i
[}
of T iz Y
1 4 T~ |
A B
= = NN-M6 x 1 1225 12
2570030 s & HA GA .
0 0 HE AA #& BB
J5
%
(mm)
RS F|N|G]|HI|NN|[GA[HA] I J | K|KA[NA M [ Zz | zz
AXQ20- 10 45 4 22 46 2 18 50 16 46 32 70 4 94 92.5| 108
AXQ20- 20 | 40 | 4 | 22 | 46 | 2 | 18| 50 | 16 | 46 | 42 | 70 | 4 | 94 | 925 108
AXQ20- 30 | 48 | 4 [ 22 | 46 | 2 | 18] 50| 16 | 46 [ 52 | — | 4 | 94| 925 108
AXQ20- 40 | 58 | 4 | 22 | 56 | 2 | 22| 56 | 16 | 56 | 62 | — | 4 | 104 |[1025] 118
AXQ20- 50 42 6 — — 3 48 48 18 72 72 98 4 122 [120.5| 136
AXQ20- 75 | 55 | 6 | 17 | 56 | 3 | 73| 56 | 23 | 100 | 97 | 131 | 8 | 1556 |153.5| 169
AXQ20-100 | 50 | 8 | 18 | 56 | 4 | 74 | 112 | 25 | 155 | 122 | 188 | 8 | 212 |210.5| 226
AXQ20-125 | 55 | 8 | 37 | 59 | 4 | 96 | 118 | 18 | 190 | 147 | 216 | 8 | 240 |238.5| 254
AXQ20-150 | 62 | 8 | 56 | 62 | 4 | 118 | 124 | 21 | 215 | 172 | 244 | 8 | 268 |266.5] 282




FFRE AXQ20L

zz _
4
o | [E 0| @
< ©
Q0 @
) 6.5 | [12
o
K 23
NA x M6 x 1 $340% 6
6.5 | |12
KA 25
13 M
3 x M6 x 1 B8 13
n
N IS
8, 27 2 _D xF 8
7 = F by 0 4 x M5 x 0.8 ALK 8
0 ;rl-ui ?1:3 - @
Jaich L =
2 IS
o MY §F
i ! r = &-() ooy 8| o
{ Ry — o | f
ey @ & !
< oI
R J -
o 6 TN s g
JrmiA TR E
T £ .
o5 000 g N APITRACH NxM5x08 #2405 6 15,16
45.5 (tirarin 1 TRREE E) JEE AXQ20L-50
KX RCTCT | R ©
5 Nl -1t
0 1 H
SEE A /@ e HO-o-——9
o 85 J 1|13 -
2x M6 x 1 g 7 25|18 \
S 2Ro1/8 Pl Bk 14 (BRI R ) 8 | 3 |12
3%;:
@5H9*30%® %5 HA GA s
A | B NN X M6 x 1 #2407 12
1 % e
0 E 3
* | D of
3\
1Qe® © o & : ! = =
,A; - F\ () Bl B /‘\ vl =
/ 8 UL elsld KU gs
. LA L An
A H 26 | | 105 26 | | 105
(NN-1)xH G #HmE AA #m BB
(mm)
Model F N G H | NN | GA | HA | J K |KAINA | M 4 Y44
AXQ20L- 10 | 45 | 4 | 22 | 46 | 2 | 18| 50 | 16 | 46| 32 | 70 | 4 | 94 | 925| 108
AXQ20L- 20 | 40 | 4 | 22 | 46 | 2 | 18] 50 | 16 | 46| 42 [ 70 | 4 | 94 | 925] 108
AXQ20L- 30 | 48 | 4 | 22 | 46 | 2 | 18| 50 | 16 | 46| 52 [ — [ 4 | 94 | 925]| 108
AXQ20L- 40 | 58 | 4 | 22 | 56 | 2 | 22| 56 | 16 | 56| 62 | — | 4 | 104 [1025] 118
AXQ20L- 50 | 42 | 6 | — | — | 3 | 48| 48| 18 | 72| 72 | 98 | 4 | 122 [1205] 136
AXQ20L- 75 | 55 | 6 | 17 | 56 | 3 | 73| 56 | 23 | 100] 97 [ 131 [ 8 | 155 [153.5] 169
AXQ20L-100 | 50 | 8 | 18 | 56 | 4 | 74 [112 | 25 | 155| 122 [ 188 | 8 | 212 [210.5] 226
AXQ20L-125 | 55 | 8 | 37 | 59 | 4 | 96 [118 [ 18 | 190 | 147 [ 216 | 8 | 240 [2385] 254
AXQ20L-150 [ 62 | 8 | 56 | 62 | 4 | 118 [ 124 | 21 | 215] 172 [ 244 [ 8 | 268 |266.5] 282




*’i;ﬁﬂ AXQ25 2-M8 x 1.25 B4 9 W5 0 2-Re1/8

4 16
© 8 J 1 15 ek A7 (i e R )
\} T ,\I
© N . =
- & ]
; ﬁ ey Ve e —
o RS, OO ¥

i A T R

54.5 (Hmimidfi e ®) 260 16 SRR R 20 65
BITRR.

44

N-M6 x 1 iz 11
o b 7
CTh
] :
2 ) o é o =k
= LB =N 3
. - FQO— 9= —O—1  sl¢® »
oy ig 5 © o} ® oS
E)'/ T
<76'5 ° F © Ol 0 1 e
A — 4-M6 x 1 #2403 10
21.5 (ﬂ _1>X E x
30 2 co
3-M8 x 1.25 4% 15 ©
15 M NA-MS8 x 1.25 12475 8
KA ‘
s | 15 KB AXQ25-75
K 28 > 65 50 22
Ln'l 8 15
o
O-0 -6 —I
ol | | 3
)| -E DoD—o———o—
> 1
zz @ @
(NN-1)xH G _
A H B 32 11.5 32 11.5
= =

5
)
6.6
Z11
Z12

3 )
)
6.6
211
Z12

i ~
A 7 B il AY
|_7 Fﬁ © NN-M8 x 1.25 247 16
+0.03 1y HA GA -
260 % 6 & HE AA #m BB
©
(mm)

RS F N G H | NN | GA | HA 1 J K |KA|NA | M Z | 2z
AXQ25- 10 | 55 4 23 | 55 2 23 | 55 | 16 56 | 365|775 | 4 107 [105.5| 123
AXQ25- 20 | 46 4 23 | 55 2 23 | 55 | 16 56 | 465 | 775 | 4 107 |105.5| 123
AXQ25- 30 | 55 4 23 | 55 2 23 | 55 | 16 56 |56.5 | — 4 107 |105.5| 123
AXQ25- 40 | 65 4 23 | 65 2 23 | 65 | 16 66 | 665 | — 4 | 117 |1155] 133
AXQ25- 50 | 75 4 32 | 80 2 32| 80 | 16 90 | 76.5 |111.5| 4 | 141 [139.5| 157
AXQ25- 75 | 60 6 — — 3 72 | 65 | 31 | 100 [101.5[136.5| 4 | 166 |[164.5| 182
AXQ25-100 | 48 8 44 | 44 4 88 | 88 | 20 | 150 [126.5[175.5| 8 | 205 [203.5| 221
AXQ25-125 | 60 8 31 66 4 97 | 132 | 18 | 205 [151.5[228.5| 8 | 258 |256.5| 274
AXQ25-150 | 65 8 56 | 66 4 | 122 | 132 | 18 | 230 |176.5/253.5| 8 | 283 |281.5| 299




44

FFRE AXQ25L

22

2z _
Z
[Te} “IF 0
o [Te]
<
00| ot
" 8 | [15]
e K 28 NA x M8 x 1.25 #2405 8
8 15
KA
15 M
3 x M8 x 1.25 WL % 15 N ©
21.5 30 2 g e
s 6.5 So 4xM6x1 BREEE 10
) > 9 o
©
vl g-}-tﬁ I —=
=N
‘&y? @ Il [ 5 ° o
AN AlE o (@) 7 @A) -
(e 3 (o} & (]
E Rt
= :
R ,/4,,,;7 7 A Neeeeeed b4 [T
06H9+g'030 %6 Jervm AT REE 20 6.5

A‘H‘fﬁiﬁﬁﬁéﬁ TREREE)

N x M6 x 1 #8211

JRALE AXQ25L-75

1 — el @ ©
2 & . ,\I C
© iT M @G‘@—@ Py o
A4 A4
8 J 1 |15
2 x M8 x 1.25 140% 9 4 ||16 #<H 2-Rc1/8
e K A7 (e A TR E)
65 50 22
26H9" %0 % 6 HA GA
NN x M8 x 1.25 W24 16
A 7 B
. -2 -2
T ! : -
)
- -1 [Yo) T+ ; +
(]
{ fft\\ o o N I TT r TT—1
W W AV L T I I
1 ; el - Q-
© ﬁ S5l @ t N
: L_an A L_an A
FA H B 8 32 11.5 32 11.5
?O
(NN-1)xH G 2
©
(mm)
F N G H NN | GA | HA | J K KA | NA M Z Y74
AXQ25L- 10 | 55 4 23 | 55 2 23 | 55 | 16 56 | 36.5 | 775 | 4 107 |105.5| 123
AXQ25L- 20 | 46 4 23 | 55 2 23 | 55 | 16 56 | 465 | 775 | 4 107 |105.5| 123
AXQ25L- 30 | 55 4 23 | 55 2 23| 55| 16 56 | 56.5 | — 4 107 |105.5| 123
AXQ25L- 40 | 65 4 23 | 65 2 23 | 65 | 16 66 | 665 | — 4 117 |115.5| 133
AXQ25L- 50 | 75 4 32 | 80 2 32| 80 | 16 90 | 76.5 |[111.5| 4 141 |139.5| 157
AXQ25L- 75 | 60 6 — || = 3 72 | 65 | 31 100 | 101.5]/136.5| 4 166 |164.5| 182
AXQ25L-100 | 48 8 44 | 44 4 88 | 88 | 20 | 150 [126.5|1755| 8 | 205 |203.5| 221
AXQ25L-125 | 60 8 31 66 4 97 | 132 | 18 | 205 |151.5|2285| 8 | 258 |256.5| 274
AXQ25L-150 | 65 8 56 | 66 4 | 122 | 132 | 18 | 230 | 176.5(253.5| 8 | 283 |281.5| 299




AIIETIREIR
B-#mEE M AXQ [EE] [ ]BS,BT, B
B JE Vi e 2% (b % H

e SR 0 2 H
C B g D i it 10 2% O £ Bk F G

)

: _DJ:?_l | = _t’:j:j Q {%
& i
@

g ; |
= |

AXQS8 % 20 AXQ 12+16+25 AXQ 12+16+25 AXQ 8 J% 20
ik EZE R (mm)

me [WOOELE) \ g | c|p|e|F|a|H| a

il fa

AXQ8 | 20 | 20 |115| 25| 2 |23 | 8 |32 | 2 | 25 |Mex1.0

AXQ12 | 18 | 18 | 10 |295| - | 18 | 10 | 30 | - |295|M8x1.0

AXQ16 | 22 | 22 |125365| - | 20 | 12 | 34 | - |365 |MI10x1.0

AXQ20 | 35 | 35 | 16 |465| 05 | 35 | 13 | 54 | 0.5 |465 |M14x1.5

AXQ25 | 35 | 35 |165|545| - | 29 | 15 | 52 | - |545 |Mi4x1.5






